i) v 2 4 KGR )

HARBIN INSTITUTE OF TECHNOLOGY,SHENZHEN

FAEER R A
KBRS

ik B 34k

YL = ;3

# 4 @R

P, 190320301

BlZeEA: _ TREE, AKX

KL FE SR KA RAT B AR A 2

LRA: 202245 A H

S 3o 5 41 H T BAE b

Education Center of Experiments and Innovations



v SRR

1. BEESR

Qu = Qun

AQi-AQ, _ Ak
A "R,

Ah
AQ? — ?s AQl = kpAté

—+ Ah=k(l — ¢ T)

2, BBESHR

H,(s) B k

ui(s) — (Tis+1)(Tas + 1)
TL = A]RQ,TQ = Azﬂg;k — k“ﬁ'.g

I e T -+
T —T -1

—y==Fk1-

—. SRR

1. FAZIKFEWRALINGE . FTHEHIEAE, #HTEKFAE 1 mEsENCN T3, K 1,
3 ZIANER ., JolEHIR 1 I ERE R 50% HFRF2E/KM 1 miEE. e
Ja B B e 2 60%1E NG KFE 1 M RSN, BB &1 (8] 4 500s, WEHAE
SKARAF/KFE 1 AR B 28, 7T DAAS 21— B R R HY BRI 57 28

2. WA KFRALI FE - ST IFEEHRAF, KM 1 RSOy T30, FTIPKH
1, 3 ZIaREEIE. JoRIEHIZR 1 R R 2 50%, MEKAE 3 I =,
FAF KA 3 WA E - FUE S R IR e 2 60%FE N4 I RGBT ERHA ,
s E NI E] Y 1000s, WEIFICSIRAKA 3 KU ALAL i 2, "I LAS 2 —Fr
RGBT BRI N H 2k



=, SRR

1. — v 5 i 28

Tank Levels [cm]. Exp. No. 1

Level Tank 1 — — — —x— — — —Level Tank 2
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99.9 199.5 299.7 39 49
Time [s]

HE®:

k = y(inf) — y({]) =0 —3.35 = 5.65
y =0.11

= = 51.36

yJ’

Polt— EsreseT = 51.36,k = 5.65,7 =0
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12.5.2022, 17:15:43
Tank Levels [cm], Exp. No. 1, from CAUsers\is |” \Desktop\gealerjie. pid
Level Tank 1 — % level Tank 2 A Level Tank 3
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HEE:

k = y(inf) — y(0) = 7.5 — 4.5 =3
y(t) =45+3 x 04 =57
y(ta) =4.5+3 x08=06.9

£ = 180, £y = 500

TN+ 1s= T.lﬁ (tl +t2}
Ty Ty ty
——— = 1.74— — 0.55
(T‘l + T2)2 ta

— 17 = 288.57, T, = 26.2359

G —HiEsk =3,7=0,T) = 288.57, T, = 25.45



